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�#��"����ก������
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�	��� +� 4 ��� *����& 

���
�� 1 ก��./ก0� �1"�
2�3�����	
���
�	���������
������������			����ก�� 
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������ก���
�
�����
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�����������
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���
�� 3 ก��./ก0������/���7������ก���
�
��7%(	
���
�	���������
������������		
	����ก�� ������ ก������� !���ก�� �� "#�$��	��ก���
�%���%�&�
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������ 1 ก��./ก0� �1"�
2�3�����	
���
�	���������
������������			����ก�� ������ ก��
����� !���ก�� �� "#�$��	��ก���
�%���%�&�
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 ก�������	
���
�	���������
������������			����ก�� ������ ก������� !���ก�� �� 
"#�$��	��ก���
�%���%�&�
�� 3 ��������ก������� 5 ��&���� *����& 

1.   ��&�ก��������1$� 
1. ��&�ก����ก�		 
2. ��&�ก������� 
3. ��&�ก���#�: 7%( 
4. ��&�ก�� �1������ 
)*
:*(��ก��	����ก�����&�$�"��1ก�����
���( 8 "��1 :*(�ก� 3�0�:

 ����.�"��� 

��

�.�"��� "����./ก0� .�"�� ��1����2��� "<�./ก0���1��./ก0� .�� 1 ก�������%��
��1�
�)�)�
� ��1 3�0����� �1�
. 
#�7$(:*(	
���
�	���������
������������			����ก�� 
������ก������� !���ก�� �� "#�$��	��ก���
�%���%�&�
�� 3 
���� �1"�
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�
�
���� 10 ��ก��������1$�$� �1"�
2�3�����	
���
�	���������
������������			����ก�� 
������ ก������� !���ก�� �� �
ก��"��1ก�����
���( 
  

�
��ก
��������� X  E
1 

"��1ก�����
���(
�� 1 3�0�:

 8.00 80.00 
"��1ก�����
���(
�� 2 ����.�"��� 7.25 72.50 
"��1ก�����
���(
�� 3 ��

�.�"��� 7.85 78.50 
"��1ก�����
���(
�� 4 "����./ก0� .�"�� ��1����2��� 8.10 81.00 
"��1ก�����
���(
�� 5 "<�./ก0���1��./ก0� 8.85 88.50 
"��1ก�����
���(
�� 6 .�� 1 8.55 85.80 
"��1ก�����
���(
�� 7 ก�������%����1�
�)�)�
� 8.50 85.00 
"��1ก�����
���(
�� 8 3�0����� �1�
. 7.75 77.50 

 
�
�
���� 11 ��ก��������1$� �1"�
2�3�����	
���
�	���������
������������			����ก�� 
������ ก������� !���ก�� �� "#�$��	��ก���
�%���%�&�
�� 3 

�1��� �# � � � �
��ก���
� "��1 


�� 1 
"��1 

�� 2 

"��1 

�� 3 

"��1 

�� 4 

"��1 

�� 5 

"��1 

�� 6 

"��1 

�� 7 

"��1 

�� 8 

��� 
�1��� 
��
 
"��1 
(80�(�) 

�( � 

�1 
(E
1
) 

�1��� 
$��� 
���
� 
(30  
�(�)  

�( � 

�1 
(E
2
) 

 �1
"�
2� 
3�� 

20 8.00 7.25 7.85 8.10 8.85 8.55 8.50 7.75 64.85 81.06 24.75 82.50 81.06/ 
82.50 

  
��ก����� �"*���ก��
*"�	$������
� ��1ก��������1$�$���� �1"�
2�3�����

	
���
������������%��
"�� E/���ก�F�
��ก#�$�*:�(7�ก������
���&���& ��� 80/80 ����กก��
������1$�:*(  81.06/82.50  �"*����	
���
�	���������
����������� ������ ก������� !���ก��
 �� ������ก(:� GH$���"��5
2�6
��ก�����
� �����ก���
�%�&���2
�./ก0� I
�� 2 �� �1"�
2�3�� 
 
 
 
 



 98 

������ 2  ��"��5
2�6
��ก�����
������ก���
�
�����
�*(�
	
���
�	���������
����������� 
 

�
�
���� 12 ก��������1$����(����
��"J���ก������
���1$������
� 
 

��ก��������1$� �#������ (N) ����L���
 ( X ) �����	��
��	� (S.D.) t-test 

ก������
� 20 17.10 1.94 18.01* 

$������
� 20 24.75 1.52  

 * ��� t ����
"#���H
���1*�	 .05 (�����ก5���� t 
���1*�	 .05  , df 19 = 1.729) 
 

��ก��ก��������1$��(�"�	ก������
���1$������
� �	��� ก������
�������L���
 17.10 $���
���
�������L���
 24.75  ก������
�������	��
��	�����X�� 1.94 $������
� ����	��
��	�����X�� 
1.52 E/��$������
�����"��5
2�6
��ก�����
�"��ก���ก������
� �
�������
"#���H
��"J���
���1*�	 .05 
E/��� +�: ���"����X��
����&�:�( 
 

������ 3  ��ก��./ก0������/���7������ก���
�
��7%(	
���
�	���������
������������		
	����ก�� ������ ก������� !���ก�� �� "#�$��	��ก���
�%���%�&�
�� 3 

 

�
�
���� 13 ก��������1$���ก��./ก0������/���7������ก���
�
��7%(	
���
�	���������

������������			����ก�� ������ ก������� !���ก�� �� "#�$��	��ก���
�%���%�&�
�� 3 

!"
����� (N = 20) 
�
�ก
� 

X  S.D 
��+,���
�

�
+��-� 

1. 	
���
�	���������
�����������7%(���:*(
���
���
�7* 

 
4.55 

 
0.69 

 
��ก
��"<* 

2. ก�����
�*(�
	
���
�	���������

������������ +�ก�����
���(*(�
�����)*


/*��(���
�� +�"#���H 

 
 

4.30 

 
 

0.66 

 
 

��ก 
3. 	
���
��������������ก����ก�		�� 3�� 

�����ก0� ก����*������$�(�����1����
����Y �$��1"����
�7* 

 
 

4.65 

 
 

0.49 

 
 

��ก
��"<* 
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�
�
���� 13 (�.�) 
!"
����� (N=20) 

�
�ก
� 
X  S.D 

��+,���
�
�
+��-� 

4. ������(�7�7�	
���
�	���������

����������� 

 
4.25 

 
0.72 

 
��ก 

5. ��2�ก��"��)*
7%(	
���
�	���������

�����������
#�7$(��(�7����&�$���ก���
�7* 

 
4.35 

 
0.59 

 
��ก 

6. ���&�$�7�	
���
�	���������
�����������
��ก��J��

�*������(*(�
ก���2�	�
��1

ก����
���%�*������
�7* 

 
 

4.15 

 
 

0.75 

 
 

��ก 
7. ��2�"��)*
7%(	
���
�	���������


�������������ก��ก�1�<(�7$(�ก�*����"�7�
�����*���7�ก�����
���ก���
�7* 

 
 

4.55 

 
 

0.51 

 
 

��ก
��"<* 
8. 
����$Z������2�ก��"��)*
7%(	
���
�

�����������7$(����%��
�$���
���
�&�7�
��1��ก�������
���ก���
�7* 

 
 

4.75 

 
 

0.44 

 
 

��ก
��"<* 
9. �		
*"�	7�ก��7%(	
���
�	���������


�����������"����J��*������(�7�7�
���&�$�
�����
���ก���
�7* 

 
 

4.20 

 
 

0.70 

 
 

��ก 
10. ก�����
�*(�
	
���
�	���������
 

�����������
#�7$(�ก�*����"�<ก"��� 
 

4.70 
 

0.47 
 

��ก
��"<* 
�/���� 4.45 0.51 �
ก 

 
 ��ก�������ก��������1$�������*�$Z���1�����/���7������ก���
�
�������	
���
�	�
��������
������������			����ก�� ������ ก������� !���ก�� �� "#�$��	��ก���
�%���%�&�
�� 3 ��
������*�$Z��
��7��1*�	 �
ก  ( X  = 4.45) 
 
 
 


